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PRACTICE PAPER-1 (2021-22)
CLASS : XI
SUBJECT: POLITICAL SCIENCE (028)

Time Allowed : 90 min Maximum Marks : 40
|qHg : 90 e ITfereha® 3Tk - 40
qmEr= eor-

1.

YI-T9 § &, @ 3R 7 949 @< ¢

2. WE & H 24 YT BI HE o 20 WA TA FL

3. We @ ¥ 24 YT El HE o 20 T TA B

4. W T H 12 Y 71 HE FF 10 T T Bl

5. % Y99 & U dead Th & GEl faeeq 21 TR 9 Al fashedl Wl
fafgd & W i = Ky smam

6. |t 9T % % GHM T TH Wl faheq & AU HF 0.8 (50 x 0.8 = 40
Aferran 7F) fxu e

7. IS TRNIHS Ak T 2l

GENERAL INSTRUCTIONS:

1. This question paper contains 3 sections as A, B & C.

2 Section A has 24 questions. Attempt any 20 questions.

3. Section B has 24 questions. Attempt any 20 questions.

4. Section C has 12 questions. Attempt any 10 questions.

5 There is only one correct option for every question. Marks will not be
awarded for marking more than one option.

6. All questions carry equal marks. Marks will be 0.8 (50 x 0.8 = 40 maximum
marks) awarded for one right option.

7. There is no negative marking.
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WS- (SECTION-A)

Tl 20 womi & IR Sifsm)

Attempt any 20 questions.

1.

Hfag™ 991 1 T e A o S8R 872

(a) WS &M

(b) ohfeme figeH

(c) ST E ¥I& &9 d

(d) Wi fauraTet & 95@ gh

According to which plan the Constituent Assembly was composed :

(a)  Mountbatten plan

(b) Cabinet Mission

(c)  Directly by the people

(d)  The members of principal legislative assemblies.
Hfau™ 941 o 95=0 1 fated fee gar fean -

(a) TS STRIHl o Aarsl g

(b) ST SH

(c) 1935 | Terfuq widy faumawes o 9= g1 swee fafy 9
(d) fofesr w&RR g

How were the members of the Constituent Assembly elected:

(a) By the leaders of National Movement

(b) By the people

(c) By the members of the Provincial Legislative Assemblies
(d) By the British Government by indirect method

Hfgu™ 991 o ar<fas 9= i & (favasH o o) fohadt ® =t
o} ?

(@) 289 (b) 288

() 299 (d) 280
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What was the number of members of the Constituent Assembly (after the
partition):

(a) 289 (b) 288

) 299 (d) 280

Hfgur g1 § <3ft faredl & gfafiel o5 gare w1 qder @ g
(a) SToh TUUST 9 (b) ===

(c) STHd B (d) s gfaffua g

The method of electing the representatives of the princely states was decided
in the Constituent Assembly :

(a) By consultation with them (b) By election
(c) By public opinion (d) By proportional representation
Gfaem g1 & day § freafafed § 9 wE-a1 woH g8l T @2

(a) WY 99 HT AT Alhdi=leh Hoal o Jfd STy off|

(b) Hfgu™ |1 AESE fed w1 H &I oAl
(c) Tfau™ | 3 HIU 9 @l @ R WHL w1 fwa e
(d) Ffoum 9w & T § Feft fhdt four | gaag & 7= g

Which of the following statements regarding the Constituent Assembly is
not correct?

(a)  The Constituent Assembly had great faith in democratic values.
(b)  The Constituent Assembly was doing the work of public interest.

(c) The Constituent Assembly worked beyond narrowness and
selfishness.

(d)  There was never any difference of opinion among the members of the

Constituent Assembly.
o | ol TR &t wifdd o1 fHuRer fean smam -
(a) T g0 (b) EiaeM gl
(c) ST gN (d) —IrEUTfeTeRT g
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10.

Decision making power in the society will be determined by :

(a)  State (b)  Constitution
(c) People (d) Judiciary
TS | A &l T e, H T -
(a) ST (b) ST
(c) SHIfaH < (d) Trafd
makes law in a monarchy.
(a) King (b) People
(c) Political Party (d) President
AR Hfa™ |91 o a7y o -
(a) T AR THEH (b) STETEAA E®
(c) Sl To=% JO= (d) HYee! THM
The Chair Person/President of the Constituent Assembly of India was
(a) Dr. B.R. Ambedkar (b)  Jawahar Lal Nehru
(c)  Dr. Rajendra Prasad (d)  Sarvpalli Radhakrishnan

fogel o hid U WEfUs Ghd GEUH ¢ S ghd TN TS o 9%
T T -

(a) 9RA, =9 9 S9E (b) foA, 9Ra 9 st
(c) i, SISl 9 TRl (d) R, U1 STRIHT F SR

Which 1s the most successful constitution of the world after the successful
national movement?

(a) India, China and Japan (b)  Britain, India and Italy
(c)  China, Brazil and Bangaldesh (d) India, South Africa & America

IRdE d@faum | srafire ikl o fagra &1 yawm few 3w @
wfgum 9 fo=n T -

(a) T T FfaEE (b) T T FfAHE

(c) 3MAIvS &1 Eiaum (d) T &1 giaum
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1.

12.

13.

From which country the provision of the principle of residuary powers was
taken in the Constitution from :

(a)  Constitution of France (b)  Constitution of Canada

(¢)  Constitution of Ireland (d)  Constitution of Britain
‘FE-TR-T-Ue faen’ yorelt © -

(a) S YAmh 3= o Hepreel M ®l, SR S @

(b) 2/3 SEAG I SOl Bl &

(c) §ft = THE gl T 21

(d) Ul W *I Tk e fraten & T ferar S 21

First Past the Post System is :

(a)  The candidate who is ahead of the others win
(b) A two-thirds majority is required
(c) Everyone gets equal representation

(d)  The whole country is considered as one geographical constituency

et & o1 TRerr fender gru fehan sman @2
(a) °E frateq s g

(b) EEI N

(c) UREHA &N, JAE 3@ &1 WeEdl gl

(d) HREUfRT GR

Reservation of constituencies is done by whom :

(@)  Only by Election Commission

(b) By Parliament

(c) By Delimitation Commission with the help of Election Commission
(d) By Executive

IRt G o ford erqeag o w@dd fafem @ &1 qeE 22

(a) 322(1) (b)  323(1)

(c) 323 (d) 324(1)
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In which article of the Indian Constitution there is a provision for an
independence Election Commission.

@ 322(1) ()  323(1)
(c) 323 (d) 324(1)
14, TEF ol ge o 98 W o4 @l ¢ -

(a) 6 9% A 60 a% S YA TH B
(b) 6 T% T 65 a9 S UEA WA &
() 598 A1 60 a9 S YA TeH B
(d 59949 65 a9 S TEA WA &

The Chief Election Commission holds his office:

(a) 6 years term or continue till the age of 60, whichever is earlier
(b) 6 years term or continue till the age of 65, whichever is earlier
(c) 5 years term or continue till the age of 60, whichever is earlier

(d) 5 years term or continue till the age of 65, whichever is earlier

15.  SEEdr U9 e & el § -

(a) T WA (b) TH WA
(c) -wd™ (d) Truifa ==&
The structure of Panchayati Raj system is :
(a) Two tier (b)  One tier
(c)  Three tier (d) Not decided

16. Tores 9w oh offYer qu1 TSiHiTaeh faeh=sieol W 9 f<an?
(a) AR e® (b) Tl TS5 TER
(c) HETHT Tedt (d) TH 9 FHE =
Who emphasized the economic and political decentralization of power?
(a)  Jawaharlal Nehru (b)  Dr. Rajender Prasad
(c) Mahatma Bandhi (d) None of the above
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17.

18.

19.

‘T O 3ot & e © A T wdedn’ Suded §a @l Sl
Torar -

(a) ENA (b) =Tel T
(c) Y&ua (d) =

‘Equality is as crucial as freedom’.

Who support the above opinion?

(a) Hegel (b) Karl Marx
(c)  Socrates (d) Netzsche

Wl i T 1 AH T -

(a) < fufsaw (b) Uifafesra

(c) &= === (d) T G HTeER
The name of the book of Plato is :

(a)  The Republic (b)  Politics

(c) Hind Swaraj (d)  The Social Contract

Teifaed fagra & IR § 9 foe e-9r9 S99 98 T8l @2

o

(a) UsHifas g &1 sas: faem gan 2l

(b) TSHIfae TagTa TSHIfde STayReneT I @a=idl, G Ta

1 godi & &9 § Tfid S 2

(c) ToHifas fagra o1 S 9HUMEs WAl hi "el ®4 H
repferd & | & 2l

(d) ToHifas fagra dieEr ToHifdes stauRometi w1 aRamwet wl T
w2l
Which of the following statements about political party is not correct?

(a)  Political theory has evolved gradually.

(b)  Political theory establishes political concepts as liberty, equality and
justice as values.
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20.

21.

(c)  The purpose of political theory is not to accurately draw contemporary
events.

(d) Political theory defines existing political concepts.

10 fSam=R 1948 &1 TJ T &l AHNRT TA A ..., i ETOM i
TR qAl o] e

(a) TG i FEHITHE =0T

(b) oTf¥e =g &1 Grawifae =won

(c) YHIRYLT &1 FEwiHes =oon

(d) WHEATHYSRR i AEHITHE =ooT

On 10 December 1948, the General Assembly of the United Nations
accepted and implemented the declaration of :

(a)  Universal declaration of equality

(b)  Universal declaration of economic justice

(c)  Universal declaration of Secularism

(d)  Universal declaration of human rights

are ARl o 1D o STER © -

(a) IT T HaA 2
(b) A TH & T Y Afed il AFG TSR e =fee

(c) 98 STHHM ! S@mEl 34 1 SUH TIeH 8

(d) <AfFaas faem@ 8 %40 98l & ©

The fundamental concept behind human rights is :

(a)  Itis the duty of the state.

(b)  As ahuman being, every persons hold have human rights.
(c) Itisa great way to promote equality.

(d)  Less importance for personality development.
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22.

23.

24.

hic oh Toarl o iU &1 =I9ON &qq i -

(a) ST (b)  HrLA

(¢c) Hfas® (d) Ui
Kan’t ideas introduces the concept of rights :

(a)  Political (b) Legal

(c) Moral (d) Natural
foehE@ &1 TER TR i@ fod 7 9 grfd €2
(a) THET & (b) T

(c) SRS Tl (d) el T
Sardar Sarovar project of development is related to which river?
(a) Narmada river (b)  Ganga river
(c)  Brahmaputra river (d) Kaliriver
o & ‘T @ =" w Ol & st -

(a) Torerme &1 GRESHIST W Gl ™ S 9 o S R

(b) fowm &t wufewdmet a WHEIfGE &1 999 TSHifae Agd a9
TerteTE L 2l

(c) Taema ws Hepfed sraemon & 2
(d) TI® Al &1 AFIRR gHv=a foan S

Top-down strategy trickle down theory of development means:

(a)  Advice will be taken from the common man on development projects.

(b) The political leadership and bureaucrats choose the strategies and
priorities of the development.

(c) Development is not a narrow concept.

(d)  Ensured the participation of everyone.
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Ws-T (SECTION-B)

Tl 20 woi & I Sifsm)

Attempt any 20 questions.

25.

26.

Hiferh R 983 Aew@qul § ik -

(a) Tifetsr SATURRI 1 TWEY GHRHS 2|

(b) Tifess efuerl = digum o geiag fwar w2
(c) T TN & forw wfaum o fog gy f6a @ 2

o

(d) Hfaum @ g ghfied s € fF WaRr off 371 Seas 1 #
|

Fundamental Rights are very important because :

(@)  The nature of fundamental rights is positive.
(b)  Fundamental rights are listed in the constitution.

(c) Special provisions have been made in the constitution for their
protection.

(d) The constitution itself ensures that even the government does not
violate them.

‘I Hehedl w1 gul SuAfed B 3 SRl TR Tadare 1 HeRfin
IR Hifesh Heequl g1 o7d: el G T He@Hl, HFUshR i
fagasHIT s et 21"

ST HU § e <9y/ETST &1 foek @2
(a) T ToF TR (b) foA

(c) U9 If d) TIE T G

“Whereas a common understanding of these rights and freedom is of the
greatest important for the full realization of this pledge, now therefore, the
General Assembly proclaims this Universal Declaration of Human Rights”
which country/organization is related to the above statement.
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27.

28.

(a)  United States of America (b)  Britain

(c)  European Union (d)  United Nations Organization
el erEeHl 1 HAUlTe TRl o SifieRil @ ‘HfawH &1 ged o SfeAr’
T G & FAfR -

(a) A Afeacd o o fufen 2

(b) AT 7ok Seoie W N HEeE § S Gehdl 2l

A

(c) Hifs Afuer & Ieasd W AfK Sed I A1 gared
=Eed o S "Rl ¢l

(d) Tifeas IfusRl w g 98d HuE 2l

Dr. Ambedkar called the rights to Constitutional remedies as the heart and
soul of the Constitution because :

(@)  These are the determinant of personality development.

(b) The person can move to the ordinary count for violation of these
rights.

(c) A person can approach to the High Court or Supreme Court on the
violation of these rights.

(d)  The list of fundamental rights is very attractive.

T WIS 1 61§ -

(a) HTE e
(b) THEAIYSRI oh Iectsd W AT

(c) TSHIfash &l ol gHeT <

(d) TR TR Fredl W FHEe

The function of the National Human Rights Commission 1is :
(@)  To contest the elections.

(b)  Hearing on human rights violations.

(c)  To support political parties.

(d)  Control over non-governmental organizations.
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29.

30.

31.

IRa § U9 |91 o A o fou ford Tae qomedt sl 1o T © 2

(a) 9gHA YUl (b) T Fat=E gomed
(c) TUhdl HhHUNI HA Joleil (d) g gomedt

Which voting system has been adopted for the election of Rajya Sabha in
India?

(a)  Plural system (b)  Direct election system

(c)  Single transferable vote system (d)  List system

R et S w1 s T -
(a) HASEl G dIR HE (b) TS oh HETE T STefterr

o (o
[

(c) THar=/R A AR T (d) T e

Which is not the function of the Election Commission of India?
(a)  Preparation of voters list

(b)  Super intendance of elections to conduct

(c)  To prepare the electoral rolls

(d) To contest the elections

freffad § € &9 599 didd= & 99 TSeie dadl @2

(a) URER i S5k § 8 arell ==

(b) HEN-FATh (HHEX kT FAE)

(c) fordt TsHIfqe I g A9 SHIARI 1 oI
(d) Hifean g1 FF T SEHA WU

Which of the following comes closest to direct democracy?
(a)  Discussions in family meeting

(b)  Election of the class monitor

(c)  Decisions taken by the Gram Sabha

(d)  Opinion polls conducted by media
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32.

33.

e : IR Wfau™ ¥ dehad 994 o fot v% e i 92 (|
TaH AN Siid SYh!) YISl ahi STIATET T34

qoh : 9Rd 99 faenel e a9 9 H del Ukl Tetdl o holseEy

T gagHfg oft fae

(a) SIfThe TE dch IHI GcA T qA qob AMAHUT HI WEl AR
LT B

(b) efYepe TH deh QI WA € W o AR 1 WEl A Tl
HIT 2

(c) fYeher Tord € deh TE R

(d) eIfreher 9 € aeh o @
Assertion : For the Lok Sabha elections in the Indian Constitution, FPTP
(First Past the Post System) was adopted.

Reasoning: In a country with a large population like India and because of its
simplicity, it has been unanimously accepted.

(a) Both the Assertion and the Reason are correct and the Reason is the
correct explanation of the Assertion.

(b) Both the Assertion and the Reason are correct but the Reason is not
the correct explanation of the Assertion.

(c) The Assertion is incorrect but the Reason is correct.

(d) The Assertion is correct but the Reason is incorrect.
sifeherd : Gfau™ o 739 dfaum gened 3 29 fawdl w1 s A
o ot T #

qoh : I g 29 fawg o faw™ qen Sodo i STeRdshad ®
SER

(a) oYY T ab A A € qe deb eAfiehe Wl WEl e
L 2

(b) e TS qeh QI WA € W dob SR 1 Wl e el
T 2
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34.

(c) ATYHYA Tord ¢ deh Wel B

(d) etfyeher Tl ® qeh o 2

Assertion : In the 73" Constitutional Amendment of the Constitution 29
subjects have been kept under local government.

Reasoning: These all 29 subjects are related to the needs of development and
welfare.

(a) Both the Assertion and the Reason are correct and the Reason is the
correct explanation of the Assertion.

(b) Both the Assertion and the Reason are correct but the Reason is not
the correct explanation of the Assertion.

(c)  The Assertion is incorrect but the Reason is correct.
(d) The Assertion is correct but the Reason is incorrect.
fiTered : TRIN kI TR b fouw 99 o9 W U yRfyes fod e

TE TR T S WY o HiSE T A T Heenstt &1 enfdw feufa
ST SIS R

deh : 39 UBd o g U8 gHR=d R @ f arier e s 6

9 AEfed HEET TSHITdes T 7 1|

(a) e SR RO <A1 FET € SR wRuT WEl @ W Afiehe Wi
& L 2l

(b) e IR FRU I TE E, AfFT IR TE W T safimed
T AT & B T

(c) Ao Tera © wfer SRl TE 2l

(d) eIfirsher Tt @ ifeh SRl T 2l

Assertion : The state government is also required to appoint a state finance
commission once in five years. This commission will examine the financial
position of the local governments in the state.

Reasoning: This innovation ensures that allocation of funds to the rural local
governments will not be a political matter.
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(a) Both the Assertion and the Reason are correct and the Reason is the
correct explanation of the Assertion.

(b) Both the Assertion and the Reason are correct but the Reason is not
the correct explanation of the Assertion.

(c) The Assertion is incorrect but the Reason is correct.

(d) The Assertion is correct but the Reason is incorrect.

o |iHfG 1 Gau B -

(a) T IMEA F GG &Y HH 9
(b) TMT IMEA i FAUTH <ol JaH e 9
(c) ¥ I | o9 &1 et 9 |
(d) T IMEA 9 &l oA HrAdieiehl 9

Thungan committee is related to:

(a) By reducing the participation of local government.

(b) By granting constitutional status to the local government.
(c) By increasing the role of money in local government.

(d)  Not from the local government but from the executive.
sty : UoHifae fagra dRRufael oF 31g&d agad a1 9ad
T 2

deh : USHIfde fagra & woasyd e & d=dl T §EEar st
SAURONA 1 T Toeptd g3 2|

(a) e SR RO <A1 FET € SR wRuT WEl W@ W eAfehe Wi
& L 2l

(b) e IR FRU I TE E, AfFT IR TE W T safimed
T AT & B T

(c) Ao Tera © wfer SRl TE 2l

(d) eIfirsher W&t @ ifeh SRl Terd 2l
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37.

Assertion : Political theory tries to bring changes according to the
circumstances.

Reasoning: Concepts like liberty and equality are constantly developed as a
result of political theory.

(a) Both the Assertion and the Reason are correct and the Reason is the
correct explanation of the Assertion.

(b) Both the Assertion and the Reason are correct but the Reason is not
the correct explanation of the Assertion.

(c) The Assertion is incorrect but the Reason is correct.

(d) The Assertion is correct but the Reason is incorrect.
fheA : qorifae g &6 9 A1 GAFdl o R H geaaredd ard
Y 3Ed I B

(aW el o

qeb : THIfGe fagra 9@ 89 o fomml & 9ishd ¢ 3 ¢ 3R
gt fed o gfag alch o deh-fadeh & dahd 2

(a) Ao 3R &Ru S e € SR wRo T e 9 fehe @
S T 2

(b) ke IR FRU I TE ¥, AR IR TE WE T sAfihed
1 e TE A Bl

(c) eAfisher Tora © Aferd SR TEt 2l

(d) Afqepe FE € wifehT RO Tera 2l
Assertion : Political theory exposes is to systematic thinking on justice or
equality.

Reasoning: We can polish our opinions and argue in an informed manner
with the help of political theory.

(a) Both the Assertion and the Reason are correct and the Reason is the
correct explanation of the Assertion.

(b) Both the Assertion and the Reason are correct but the Reason is not
the correct explanation of the Assertion.

(c) The Assertion is incorrect but the Reason is correct.

(d) The Assertion is correct but the Reason is incorrect.
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38.

39.

FHU ; TSR, G o HHARUETT TR Siod o Hewqul d Tel 8
deh @ ifFcerqul sl o feled o foru usHifaer foemd den weenew i
g SRR gAR faT TeER el ®, St gAR g Bt SR 34 R

(a) MY SR HRUT <A Gl € SR hRUT WEl e W WY Wi
S w4 2

(b) ke IR FRU I TE ¥, AfFT IR TE W G sAfihed
1 e TE A Bl

(c) feper Tord € Wferd RO wEl 2

(d) Afqepe FE € wifehT SR Tera 2l

Assertion : Freedom, equality and secularism are not essential element for
our lives.

Reasoning: To act responsibly, it is helpful to have a basic knowledge of the
political ideas and institutions that shape the world we live in.

(a)  Both the Assertion and the Reason are correct and the Reason is the
correct explanation of the Assertion.

(b) Both the Assertion and the Reason are correct but the Reason is not
the correct explanation of the Assertion.

(c) The Assertion is incorrect but the Reason is correct.

(d) The Assertion is correct but the Reason is incorrect.

frafafea 9 9 @&t fasag 1 999 X -

(a) 9RAE WO H1 TEEA H TAS@E T FHAGT GOl Sl
fafesa foran 21

(b) 9G¥ TeFEHE YUME ol ST T 2
(c) Tt St o Tagrl w1 < fdves el o wnfier TEF o e 2
(d) TsHIfaer fagra feer gferan 21
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40.

Choose the correct option :

(@)  Our preamble enshrines freedom, equality and fraternity.

(b)  Presidential form of government has been adopted in India.

(¢)  Gandhian principles didn’t find a place in Directive Principles.

(d)  Political theory is a static process.

Hifersr stfuerl o Gau § f= § 9 SF-91 FHed g 22

(i) EUS W T2 THIGE B WEAT TR R g

(i) TR digum o wiferes iRl &1 @ Sooi@ & W ot shdedl
REl

(i) F9F & Wo-"y Goum ¥ 3 ™ difaes sifuer § geivE qen
foar gam 2|

(iv) =g =N o WK Aifaal 98 guenst &1 WET w o fag
A T 2

(a) (i) (i) S (b) (i) T (v) AT
(¢) (iii) & (iv) I @) @) @Gv) I

Which of the following statements regarding Fundamental Rights is correct?
(1)  Society does not have to face new challenges.

(i1) Fundamental Rights are mentioned in our constitution but not
fundamental duties.

(i11) The fundamental rights guaranteed by our constitution are
continuously being reinterpreted in response to new circumstances.

(iv) Judicial interpretation and government policies are designed to
address new problems.

Choose the correct option:
(@) (i) and (ii) both (b)  (i1) and (iv) both
(c) (ii1) and (iv) both (d) (i) and (iv) both
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41.

42.

43.

AUHRI HT TR & 9 § @A HI 7 qE T Hifw -

(a) 3 LA 2 (b) 3= Sfted o ey afevae 2

(c) STEAMET 1 sl <d 21 (d) HH D T T

Rights are increasingly seen as guarantees because :
(a)  these are meaningfulness. (b) essential to lead a good life.

c romotes inequalities. d mere some values.

p q
“ST T SEal § W 8 qol [S9eT His TEqed J 8, SHehl IR
Bl 81" I8 HUA T -

(a) BT (b) @
) == (d e

‘That which is elevated above all price, and admits of no equivalent, has a
dignity’. This statement is given by :

(a) Hegal (b)  Hietzsche
(c) Plato (d) Kant
Afsh il 1 Therar ek i € -

(a) AR I R

(b) FUIfeTRT i SoSEIRT

(c) Wfae w1 Serar ey (Stferenmi w1 g @)

(o

(d) =AfF o @

The success of rights depends:

(a)  Autocracy of the executive.

(b)  Autocracy of the judiciary.

(c)  Validity of the constitution (in which the rights are protected).

(d)  Discretion of individual.
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44.

45.

46.

iepideh TR U8 Bid & -

(a) Efgu™ g/ (b) ST g

(c) UPfd A IR N (d) H9g g

Natural rights are given by:

(a)  Constitution (b) King

(c)  Nature or god (d) Parliament

MTYPR T I F® @M Toh § & B h (AW ... ira 22
(a) Hfgew <o (b) aurfer i

(c) TsHifas I (d) EEISeR g

Rights place some upon the state to act in certain kind of ways.
(a)  moral obligations (b) legal obligations

(c) political obligations (d)  social obligations

T e AR TER &l 9 o 9fa SIERT 9910 ¢ FifE

(a) I AfUsR =l o gol SAfUFR 2l

(b) A STEHAT TGN 2l

(¢c) T WM HAQH o Hoa®d WK oh Ol i gefad e @l

TR T 2
(d) TR Seo@ HiguE | T T R

Political rights contribute to make the government accountable to the people

because -
(a)  These rights are the fundamental rights of the people.

(b)  These rights promote awareness.

(c) All persons have an opportunity to influence the decision of the

government by casting his vote.

(d)  These are mentioned in the constitution.
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47. fow Afed & faw@ &1 STYH Higd AFT SE?

(a) HEIPd Aled (b) TR G = F Al

(c) Tooh<iga Ared (d) FE T

Which model would be considered as a suitable model of development?
(a)  Centralized Model (b)  Top to bottom Model

(c) Decentralized approach (d) None

48. TE wdd H fasm € <@
(a) TUH I H BIAI i G&AT BT BT
(b) TR TIoERT &1 BT
(c) I ! &l He
(d) <N oF Sfiad st 98 TUE S HESE a1 §fte Sl 0

In real sense development is, when

(a) By the number of cell phones in the country.
(b) By the sophisticated weapons which are developed.
(c) By the size of cars which people drive.

(d) By the quality of life enjoyed by people in toms of harmony and
satisfaction of essential needs.

WE-T (SECTION-C)

Tl 10 U9ai & IR il
Attempt any 10 questions.
49. ﬂ%ﬁfqvq EEK: wlvicu#r |%Hﬂmﬁ?{ﬂfmw%7

: t:uzchUE o
R D\ :

P’ rl
30
R
e

o
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(a) SR & (b) THIAT Hl
(c) INOT T & (d) e &I
In the picture given below, the people are raising the demand for —

e

S ikstorecien |/ LAMTETIAL Y

(@) Rights (b) Dutics

(c)  To get Shelter (d) Housing
fererfortiam woa fezartom wE % fem ¥
Following question is for visually impaired students :
fore foeme 7 = W g&as fa?

(a) i (b) R
(c) 3& (d) w9

Who wrote the book on justice?

(a) Plato (b)  Socrates
(c) Aristotle (d) Rousseau

Hr= feu o fo & wm 9 W iR R T ge o1 I SR
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51.

fost o form Hifeten tfeR o1 Seoted <t T @2

(a) 9O ok foeg SAUSR (b) THA T ATHR

(c) TGN HT AIRR (d) e @aad a1 ISR
d

Look at the picture gi wer the question:

below carefull

Which Fundamentl Right is blng V‘i’xolated in fhe picture?

(a) Right against Exploitation (b)  Right to Equality

(c) Right to Freedom (d)  Right to Freedom of Religion
Frefateaa uw gieatim soit & fog )

Following question is for visually impaired students :

e IR *T1 Sooi@ ©

(a) YR Gfgus o (b) oRIN H
(c) e o (d) el &l
Fundamental Rights are mentioned in :

(@) Indian Constitution (b) Inorders
(c) Traditions (d) No Where

= fgu v oo 9 9rdie gfau 9w o < 9@ o Al Sl 989
7o A fafem)
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(a) TSI g AN T Tehs THE
(b) HETH T SR EEw

(c) HER Wl 3R HETeHl Tt

(d) werE T SR T TS T

Identify the names of two members of the Constituent Assembly of India in
the picture given below and write their names.

''''''

(a)  Dr. Ambedkar and Dr. Rajender Prasad
(b) Mahatama Gandhi and Nehru

(c)  Sardar Patel and Mahatma Gandhi

(d) Mahatma Gandhi and Dr. Rajender Prasad

fortferfian woe ghestiim B & fore 1

Following question is for visually impaired students :

T TgefieTor = 72

(a) U HAfae Gfea (b) AR & R

c) fe (d) faunfaer o foig
What is Habeus Corpus?

(@) Acivil code (b)  Orders of Executive

(c) Writ (d) Decisions of Legislature
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52.

53.

54.

fferad T i &9F ¥ U8 a1 39 W STeIid ¥eAi & SW < -

i § U@ &% oqeeg ® o 9ug UM A o Geied e
Tohdt 21 U9 OHell § s oy gferal oTR ol Sedd el it W
YR °h GINYH qAT WHRT FFH § HIE AR TS e wfaum & A
fe&dl &l HTH! T=ien SHE T R

Read the following paragraph carefully and answer the questions that
follow:

There are many articles in The Constitution, which mention that these
articles can be amended by a simple law of the Parliament. No special
procedure for amendment is required in such cases and there is no difference
at all between on amendment and on ordinary law. These parts of the
Constitution are very flexible.

T e ® -

(a) e (b) 3R

(c) 3™ (d) FIR 9 AU H I
Indian Constitution is a —

(a) Flexbile (b) Rigid

(c) Easy (d) Blend of Rigidity & Flexibility
Hfgum o uReads =t wifem fifea € -

(a)  —AEUTfCAehT (b)  wRUfTRT

(c) forenfaert @ I

The power of amendment in Constitution vests in -

(a) Judiciary (b)  Executive

(c) Legislatuve (d) Press

‘fafy g/’ I T TART WAy oF HINYA 8q fh9 3T # fhen
2?2

(a) TR 2 (b) =T 14

(c) ST 32 (d) T 9 Hi5 &l
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The word ‘By Law’ is used in whcih article to amend the Constitution -

(a) Article 2 (b) Article 14

(c) Article 32 (d)  None of these
55. ARAE GfauE H ...

(a) uRad" & a1 wehd 2l

(b) STEYIHATEY Redd o <1 Hehd 21

(c) TEO®Y T Yiedq fmd <1 @ehd 2l

(d) G sEg el @

Indian Constitution -

(a)  cannot be amended

(b)  can be amended as per needs

(c) can be amended as per desire

(d) amendments depends upon the public opion
frAfafEad STaaor &l &9\ @ 98 qe 39 W SR 99 & W S|

1950 3R 1960 o I H & SR TRTEE & THiHT <9 A

Sfafafees TET @ oIl BIfer ®T| 99 Sk WA Hed HEequl M
T, Ao, SRS, frerar 8k gl glawnstt & erve i frerd

S0 THERAT R HHIHM HET o

Read the following paragraph carefully and answer the questions that follow:

56.

In the 1950s and 1960s when most countries of Asia and Africa had
acheived independence from colonial rule, the most urgent task in front of
them was to solve the preessing problems of poverty, malnourishment,
unemployment, illiteracy and the lack of basic amenities that a majority of

their population faced.

TRTE 9 Thik! 33N A frad TNl wifad +i?
(a) Tommsha e = (b) fowfaq o ufv=wh 30 9@
() SHad (d) wEar 9
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From which Countries and Asian and African Countries get independence?
(a) Developing Countries

(b) Developed & Western Countries

(c) People
(d) Evils
57. fowmasia < *t go1 guen oft -
(a) O T SAfhan (b) RHIeR! T STRMH BT

(c) TR gfawmew &1 A9E () USEIR 1 &M

The major problem of developing countries was —
(a) Excess of money (b)  Ultra modern technologies

(c)  Lack of basic facilities (d) Employment
58. TORTE HI STTURUN hT FEH T -

(a) WG 9 3 9 (b) EAMd H

(c) i | (d) fvTHt SR & STH °
Development means —

(a)  Growth and Progress (b)  Degradation

(c) Diseases (d) By adopting western culture

59. @ Sfaehfad <3N I @d-dl THell d9 9o ANTReR! 1 &X ohdl o417

(a) SAH TIh (b) 3= &

() = = (d) g

What was the standard of tis citizens when devloped countries got
independence?

(a) Comfortable (b)  High standards

(c) Low standard (d)  Cheerfulness
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60. 3ufrafyre wme ® SEeA w1 I9A fRaer foru gtar en?
(a) Towmsfia 390 o fag (b) SufavmEral o fou
(c) a1 o fau (d) ¥ & faT

The resources were used under colonial rule for whom?

(a)  For developing countries (b)  For colonial rule

(c)  For people (d) Forall
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